

THE GENERALIZATION ON A SPECIAL CASE OF OPPENHIM THEOREM

ZHI-HUA ZHANG AND SHAN-HE WU

ABSTRACT. In this paper, we give the following generalization on a special case of Oppenheim theorem: Let $1 \leq m$, and $a_2 = (b_1^m + c_1^m)^{\frac{1}{m}}$, $b_2 = (c_1^m + a_1^m)^{\frac{1}{m}}$, $c_2 = (a_1^m + b_1^m)^{\frac{1}{m}}$, then the inequalities hold $p_2 \geq 2^{\frac{1}{m}} p_1$, and $\Delta_2 \geq 2^{\frac{2}{m}} \Delta_1$.

1. INTRODUCTION AND NOTATION

Throughout the paper we assume p_1 denote the semi-perimeter of triangle $A_1B_1C_1$, a_1, b_1, c_1 the opposite sides, R_1 the circumradius, r_1 the inradius and Δ_1 the area. Similarly, one defines triangle $A_2B_2C_2$ and triangle $A_3B_3C_3$.

In 1963, A. Oppenheim [1] obtained the following theorem:

Theorem 1.1. *Let $1 \leq m \leq 4$, and*

$$(1.1) \quad a_3 = (a_1^m + a_2^m)^{\frac{1}{m}}, b_3 = (b_1^m + b_2^m)^{\frac{1}{m}}, c_3 = (c_1^m + c_2^m)^{\frac{1}{m}},$$

then the following inequalities hold

$$(1.2) \quad p_3 \geq 2^{\frac{1}{m}-1} (p_1 + p_2),$$

and

$$(1.3) \quad \Delta_3 \geq 2^{\frac{2}{m}-1} (\Delta_1 + \Delta_2).$$

When $m > 4$, a negation of the inequalities (1.2) and (1.3) was obtained in [2].

In this paper, we give a generalization for a special case of Theorem 1.1.

2. MAIN RESULT AND LEMMA

Theorem 2.1. *If m be a real number for $1 \leq m$, and*

$$(2.1) \quad a_2 = (b_1^m + c_1^m)^{\frac{1}{m}}, b_2 = (c_1^m + a_1^m)^{\frac{1}{m}}, c_2 = (a_1^m + b_1^m)^{\frac{1}{m}}$$

then the following inequalities hold

$$(2.2) \quad p_2 \geq 2^{\frac{1}{m}} p_1$$

and

$$(2.3) \quad \Delta_2 \geq 2^{\frac{2}{m}} \Delta_1.$$

To prove Theorem 2.1, we will use the following lemma:

Lemma 2.1. *If $0 < u \leq 1, v > 0$, and $\lambda < 1$, then*

$$(2.4) \quad (v+1)^\lambda - (v+u)^\lambda \leq (4v)^{\frac{\lambda-1}{2}} (1 - u^{\frac{\lambda+1}{2}})$$

Date: January 19, 2004.

1991 Mathematics Subject Classification. Primary 26D15.

Key words and phrases. triangle inequality, perimeter, area, Oppenheim theorem.

The authors would like to thank doctor Chang-jian Zhao and the anonymous referee for some valuable suggestions which have improved the final version of this paper.

This paper was typeset using $\mathcal{A}\mathcal{M}\mathcal{S}\text{-}\mathcal{L}\mathcal{A}\mathcal{T}\mathcal{E}\mathcal{X}$.

Proof. Set a function

$$f(u) = (u+v)^\lambda + (4v)^{\frac{\lambda-1}{2}}(1-u^{\frac{\lambda+1}{2}}) - (1+v)^\lambda, \quad (0 < u \leq 1, v > 0, \lambda < 1)$$

We have

$$\frac{\partial f(u)}{\partial u} = \lambda(u+v)^{\lambda-1} - \left(\frac{\lambda+1}{2}\right)(4uv)^{\frac{\lambda-1}{2}}$$

By using the arithmetic-geometric mean inequality, we obtain

$$\frac{\partial f(u)}{\partial u} \leq \lambda(2\sqrt{uv})^{\lambda-1} - \left(\frac{\lambda+1}{2}\right)(4uv)^{\frac{\lambda-1}{2}} = \left(\frac{\lambda-1}{2}\right)(4uv)^{\frac{\lambda-1}{2}} < 0,$$

since

$$\lambda - 1 < 0, u > 0, v > 0.$$

Therefore, the function f with fixation v ($v > 0$) be monotonically decreasing in $u \in (0, 1]$, that is

$$f(u) \geq f(1) = 0$$

i.e., the inequality (2.4) is true. This completes the proof. ■

3. THE PROOF OF THEROEM2.1

Proof. From $a_2, b_2, c_2 > 0, m - 1 \geq 0$, we have

$$\begin{aligned} (a_2 + b_2)^m &= (a_2 + b_2)(a_2 + b_2)^{m-1} = a_2(a_2 + b_2)^{m-1} + b_2(a_2 + b_2)^{m-1} \\ &> a_2(a_2)^{m-1} + b_2(b_2)^{m-1} = (a_2)^m + (b_2)^m \\ &= b_1^m + c_1^m + c_1^m + a_1^m > a_1^m + b_1^m = c_2^m \end{aligned}$$

therefore $a_2 + b_2 > c_2$. Similarly, we obtain $b_2 + c_2 > a_2$ and $c_2 + a_2 > b_2$. That is to say, a_2, b_2, c_2 are three sides of the triangle $\Delta A_2 B_2 C_2$.

By using the power mean inequality, we have

$$\begin{aligned} p_2 &= \frac{1}{2}[(a_1^m + b_1^m)^{\frac{1}{m}} + (b_1^m + c_1^m)^{\frac{1}{m}} + (c_1^m + a_1^m)^{\frac{1}{m}}] \\ &\geq 2^{\frac{1}{m}-2}(a_1 + b_1) + 2^{\frac{1}{m}-2}(b_1 + c_1) + 2^{\frac{1}{m}-2}(c_1 + a_1) = 2^{\frac{1}{m}} p_1 \end{aligned}$$

where $m \geq 1$. This completes the proof of inequality (2.2).

In order to prove inequality(2.3), We first prove the following inequality:

$$(3.1) \quad (a_1^m + b_1^m)^{\frac{2}{m}} + (b_1^m + c_1^m)^{\frac{2}{m}} - (c_1^m + a_1^m)^{\frac{2}{m}} \leq 2^{\frac{2-m}{m}}(b_1^2 + a_1 b_1 + b_1 c_1 - c_1 a_1)$$

Let $\frac{a_1}{b_1} = x^{\frac{1}{m}}$ ($x \geq 1$), and $\frac{c_1}{b_1} = t^{\frac{1}{m}}$ ($0 < t \leq 1$), then

$$\begin{aligned} &b_1^{-2}[(a_1^m + b_1^m)^{\frac{2}{m}} + (b_1^m + c_1^m)^{\frac{2}{m}} - (c_1^m + a_1^m)^{\frac{2}{m}} - 2^{\frac{2-m}{m}}(b_1^2 + a_1 b_1 + b_1 c_1 - c_1 a_1)] \\ &= (x+1)^{\frac{2}{m}} + (t+1)^{\frac{2}{m}} - (x+t)^{\frac{2}{m}} - 2^{\frac{2-m}{m}}[x^{\frac{1}{m}}(1-t^{\frac{1}{m}}) + t^{\frac{1}{m}} + 1] \end{aligned}$$

Set

$$g(x) = (x+1)^{\frac{2}{m}} + (t+1)^{\frac{2}{m}} - (x+t)^{\frac{2}{m}} - 2^{\frac{2-m}{m}}[x^{\frac{1}{m}}(1-t^{\frac{1}{m}}) + t^{\frac{1}{m}} + 1]$$

we have

$$\frac{\partial g(x)}{\partial x} = \frac{2}{m}[(x+1)^{\frac{2-m}{m}} - (x+t)^{\frac{2-m}{m}} - (4x)^{\frac{1-m}{m}}(1-t^{\frac{1}{m}})]$$

From Lemma2.1 and $0 < t \leq 1, x \geq 1, \frac{2-m}{m} < 1$, we obtain $\frac{\partial g(x)}{\partial x} < 0$. Therefore, the function g with fixation t ($0 < t \leq 1$) be monotonically decreasing in $x \in [1, +\infty)$, that is $g(x) \leq g(1) = 0$. i.e., the inequality (3.1) is true.

Secondly, to proved inequality (2.3).

By using the power mean inequality, we have

$$(a_1^m + b_1^m)^{\frac{2}{m}}(b_1^m + c_1^m)^{\frac{2}{m}} \geq 2^{\frac{4-4m}{m}}(a_1 + b_1)^2(b_1 + c_1)^2 \quad (m \geq 1)$$

From Heron's formula [3] and (3.1), we follow

$$\begin{aligned}
\Delta_2^2 &= \frac{1}{4}[c_2^2 a_2^2 - \frac{1}{4}(c_2^2 + a_2^2 - b_2^2)^2] \\
&= \frac{1}{4}(a_1^m + b_1^m)^{\frac{2}{m}}(b_1^m + c_1^m)^{\frac{2}{m}} - \frac{1}{16}[(a_1^m + b_1^m)^{\frac{2}{m}} + (b_1^m + c_1^m)^{\frac{2}{m}} - (c_1^m + a_1^m)^{\frac{2}{m}}]^2 \\
&\geq \frac{1}{4}(a_1^m + b_1^m)^{\frac{2}{m}}(b_1^m + c_1^m)^{\frac{2}{m}} - \frac{1}{16}[2^{\frac{2-m}{m}}(b_1^2 + a_1 b_1 + b_1 c_1 - c_1 a_1)]^2 \\
&\geq \frac{1}{4}[2^{\frac{4-4m}{m}}(a_1 + b_1)^2(b_1 + c_1)^2] - \frac{1}{16}[2^{\frac{2-m}{m}}(b_1^2 + a_1 b_1 + b_1 c_1 - c_1 a_1)]^2 \\
&= 2^{\frac{4-6m}{m}}[(a_1 + b_1)^2(b_1 + c_1)^2 - (b_1^2 + a_1 b_1 + b_1 c_1 - c_1 a_1)^2] \\
&= 2^{\frac{4-4m}{m}} a_1 b_1 c_1 (a_1 + b_1 + c_1)
\end{aligned}$$

According to the expansion $a_1 b_1 c_1 = 4R_1 \Delta_1$, $a_1 + b_1 + c_1 = \frac{2\Delta_1}{r_1}$ for triangle, and Euler's inequality $R_1 \geq 2r_1$, we have

$$\Delta_2^2 \geq 2^{\frac{4-4m}{m}} a_1 b_1 c_1 (a_1 + b_1 + c_1) = 2^{\frac{4}{m}} \Delta_1^2 \left(\frac{R_1}{2r_1}\right) \geq (2^{\frac{2}{m}} \Delta_1)^2.$$

Rearranging we obtain inequality (2.3). This completes the proof. ■

4. THE ANALOGUE OF OPPENHIM'S INEQUALITY AND AN OPEN PROBLEM

Theorem 4.1. *Let $a_2 = (b_1^2 + c_1^2)^{\frac{1}{2}}$, $b_2 = (c_1^2 + a_1^2)^{\frac{1}{2}}$, $c_2 = (a_1^2 + b_1^2)^{\frac{1}{2}}$, then the following inequality holds*

$$(4.1) \quad r_2 \geq \sqrt{2} r_1$$

Proof. From Heron's formula, we have

$$\begin{aligned}
\Delta_2^2 &= \frac{1}{4}[c_2^2 a_2^2 - \frac{1}{4}(c_2^2 + a_2^2 - b_2^2)^2] \\
&= \frac{1}{4}(a_1^2 + b_1^2)(b_1^2 + c_1^2) - \frac{1}{16}[(a_1^2 + b_1^2) + (b_1^2 + c_1^2) - (c_1^2 + a_1^2)]^2 \\
&= \frac{1}{4}(a_1^2 b_1^2 + b_1^2 c_1^2 + c_1^2 a_1^2),
\end{aligned}$$

or

$$\Delta_2 = \frac{1}{2} \sqrt{a_1^2 b_1^2 + b_1^2 c_1^2 + c_1^2 a_1^2},$$

and

$$r_2 = \frac{\Delta_2}{p_2} = \frac{\sqrt{a_1^2 b_1^2 + b_1^2 c_1^2 + c_1^2 a_1^2}}{\sqrt{a_1^2 + b_1^2} + \sqrt{b_1^2 + c_1^2} + \sqrt{c_1^2 + a_1^2}},$$

therefore inequality(4.1) is equivalent to

$$(4.2) \quad \frac{a_1^2 b_1^2 + b_1^2 c_1^2 + c_1^2 a_1^2}{(\sqrt{a_1^2 + b_1^2} + \sqrt{b_1^2 + c_1^2} + \sqrt{c_1^2 + a_1^2})^2} \geq 2r_1^2.$$

Utilizing the fact that

$$\begin{aligned}
(\sqrt{a_1^2 + b_1^2} + \sqrt{b_1^2 + c_1^2} + \sqrt{c_1^2 + a_1^2})^2 &\leq 6(a_1^2 + b_1^2 + c_1^2), \\
a_1^2 + b_1^2 + c_1^2 &= 2(p_1^2 - 4R_1 r_1 - r_1^2),
\end{aligned}$$

and

$$a_1^2 b_1^2 + b_1^2 c_1^2 + c_1^2 a_1^2 = (p_1^2 - 4R_1 r_1 - r_1^2)^2 + 4p_1^2 r_1^2,$$

therefore

$$\begin{aligned} & \frac{a_1^2 b_1^2 + b_1^2 c_1^2 + c_1^2 a_1^2}{(\sqrt{a_1^2 + b_1^2} + \sqrt{b_1^2 + c_1^2} + \sqrt{c_1^2 + a_1^2})^2} \\ & \geq \frac{a_1^2 b_1^2 + b_1^2 c_1^2 + c_1^2 a_1^2}{6(a_1^2 + b_1^2 + c_1^2)} \\ & = \frac{1}{12}(p_1^2 - 4R_1 r_1 - r_1^2 + \frac{4p_1^2 r_1^2}{p_1^2 - 4R_1 r_1 - r_1^2}). \end{aligned}$$

By using the arithmetic-geometric mean inequality and well known inequality $p_1 \geq 3\sqrt{3}r_1$, we obtain

$$(4.3) \quad \frac{1}{3}(p_1^2 - 4R_1 r_1 - r_1^2) + \frac{4p_1^2 r_1^2}{p_1^2 - 4R_1 r_1 - r_1^2} \geq \frac{4}{\sqrt{3}}p_1 r_1 \geq 12r_1^2.$$

From Gerretsen's inequality (see[4]) $p_1^2 \geq 16R_1 r_1 - 5r_1^2$ and Euler's inequality $R_1 \geq 2r_1$, we get

$$(4.4) \quad \frac{2}{3}(p_1^2 - 4R_1 r_1 - r_1^2) \geq \frac{2}{3}(12R_1 r_1 - 6r_1^2) \geq 12r_1^2.$$

Combining inequalities (4.3) and (4.4), we have

$$(4.5) \quad \frac{1}{12}(p_1^2 - 4R_1 r_1 - r_1^2 + \frac{4p_1^2 r_1^2}{p_1^2 - 4R_1 r_1 - r_1^2}) \geq 2r_1^2,$$

also inequality (4.2) holds. The proof of Theorem4.1 is completed. ■

Finally, we propose an open problem:

Prove that: If m be a real number for $m \geq 1$, and $a_2 = (b_1^m + c_1^m)^{\frac{1}{m}}$, $b_2 = (c_1^m + a_1^m)^{\frac{1}{m}}$, $c_2 = (a_1^m + b_1^m)^{\frac{1}{m}}$, then the following inequality holds

$$(4.6) \quad r_2 \geq 2^{\frac{1}{m}} r_1.$$

REFERENCES

- [1] A.Oppenheim, *Some Inequality for Triangles*, Univ. Beograd. Publ. Elektrotehn . Fak. Ser. Mat. Fiz. No. 357–380(1971), 21–28
- [2] D.S.Mitrinović, J.E.Pečrić and V.Volenec, *Recent Advances in Geometric Inequalities*. Kluwer Academic Publishers, 1989. 366–367
- [3] O.Bottema, R.Z.Djordjević, R.R.Janić, D.S.Mitrinović and P.M.Vasić. *Geometric Inequalities*. Wolters-Noordho-Publishing, Groningen, 1969.
- [4] Sh.-H. Wu and Zh.-H. Zhang, *Some strengthened results on Gerretsen's Inequalities*. RGMIA Res. Rep. Coll. 3(6), Article 16, 2003.

(Zh.-H. Zhang) ZIXING EDUCATIONAL RESEARCH SECTION, CHENZHOU, HUNAN 423400, CHINA.

E-mail address: xzgzzh@163.com

(Sh.-H. Wu) DEPARTMENT OF MATHEMATICS, LONGYAN COLLEGE, LONGYAN FUJIAN 364012, P.R.CHINA

E-mail address: wushanhe@yahoo.com.cn